[loKyMeHT NoAnucaH NpoCToil 3NeKTPOHHOM NOANMUCHI0
NHbopmaums o Bnagenbue:
®WO: bornaHosa U.A.

[omxHocTb: n.0 anpektopa NMXKT YpIYIC ., I
[laTa NoANMCaHMS: 3105 MEPMCKHUU NHCTUTYT KEJIE3HOAOPOKHOI'O TPAHCIIOPTA

YHuKanbHbI/ nporpamMibIi kniprIIIATT etepalIEHOro TOCy1apCTBEHHOTO OF0UKETHOrO 00pa30BaTEIbHOIO
e38deddd8235dccbc84f34fff0780154b7f487c4 YUPEKACHUS BBICIIETO 00pa30BaHUs

«YpalibCKIil TOCYAapCTBEHHBIN YHUBEPCUTET MyTel coobieHus» B r. [lepmu
(ITVDKT YpI'VIIC)

®OH/J ONEHOYHBIX CPEACTB IJIAA IPOBEJIEHU A
MPOMEXXYTOUHOM ATTECTAIIMA OBYYAIOIINUXCS

no nucuuriuae OI'CO.03 «nocmpanhblil 361K 8 NPOpecCcuoHalbHoU
0esimenbHOCUY

IS cienqualibHOCTHU: 27.02.03 Aémomamuxa u mejiemexanuka Ha MpaHcnopme
(rcene3no0oporcHom mpancnopme).

Ilepmb 2022



Paccmotpeno
[{uk0BOM KOMHCCHEN

IIpencenarens Yepemnvix M.C.

CocraBuTens: Kypbamosa H. A.



COJEPKAHUE

CTp
1 OG6nactp MpUMeHEHUs Ne4
2 Pe3ynpTaThl OCBOCHUS AUCLUILIMHBI , TOJIEKAIINE KOHTPOIIIO Ne4
3 Kpurepuu BrICTaBICHHS OIIEHOK Ned

4 TwuroBble KOHTPOJbHBIC 3aJaHUsI WK UHBIC MaTepHasbl, HeoOXoaumbie aiis No7
OLICHKH 3HAHUN U YMEHUMN



1 ObsacTb NpuUMeHeHUust

®onp onieHouHbIX cpeacts (POC), npeaHazHayeH AJis IPOBEPKU
pe3ynbTaTtoB ocBoeHUs quctuiinabl OI'CH.03 «MHOCTpaHHBIN SI3BIK B
poecCuoHaNbHOM AESITeIbBHOCTHY» MPOrpaMMbl TOJATOTOBKU CIEIIUATUCTOB

CpCAHCTO

3BeHa (IITICC3)

1o crnenuanbHoctT 27.02.03 ABTOMATHKA U

TeJIeMeXaHMKA HAa TPaHCHopTe (Aej1e3HOA0pPo:kHOM TpaHcnopTe).DOC
BKJIFOUAET KOHTPOJIbHBIE MaTEPHUAIIbI IS IPOBEICHUS IPOMEKYTOUHOM
attectauuu B popMme audepeHmpoBaHHOT03a4yeTa B paMkax 4 cemectpa Ha 0aze

OCHOBHOTO
o0O1mero oOpa3oBaHws.

®OC no3BoJISIET OLIEHUBATh YPOBEHb 3HAHUM W YMEHUN MO JUCLUILIUHE,
onpeaeneHHbix o ®I'OC CIIO no coorBercrrytomeit [ITICC3.

2 Pe3yabTaThl ocBoeHus: AucuIInabI OI'CD.03 «MHOCTpaHHBINM
SI3BIK)MOJIJIEKANHE KOHTPOJII0

PGBYHBTaTBI O6Y‘I€HI/IH IToxazarenu OLCHKH q)OpMI/IpyeMI)IC
(OCBOEHHBIE YMEHHS], pe3ynbTara KOMITETEHLIUN
YCBOCHHbBIC 3HAHUS )
B pesynpTare ocBoeHus | -  yMeHuUe  BbICKazaThcsi  Ha | 1.4. @opmMupyembie
KOMIIETEeHI[UH:
JTUCIUATITUHBI npodeccnoHaTbHBIC/ TIOBCETHEBHBIC OK 4. OcymecTBIsTS
oOyJaromuics JOJDKCH | TEeMBI B paMKax ONPEICIICHHOH | IOUCK U UCIOJIb30BaHUE
. UHpOpManuy,
yMeThb: TEMaTHKU HEOGXOTIMOH 15t
-obmarbcss  (YCTHO W | - yMeHHe TepeBecTd TeKCT(co | ahpexkTUBHOrO
BBITIOJTHEHUS
MTUCHEMEHHO) Ha | CJIOBapeM) U OMNpPENeUTh  €ro
npodeccroHalIbHbIX 3a]1a4,
WHOCTPAHHOM  sI3BIKE HA | TEMATHKY npohecCHOHANBEHOTO U
npodeccuoHanbHbIe U MEHHE PACCKA3aTh, OMMCATH | ot ios  HOTO PASBITIL
P Y P ’ OK 5. Ucnonb3oBath
MTOBCEHEBHBIE TEMBI; coObiTus/  (QakThl Ha  OCHOBE | MH(OPMALMOHHO-
KOMMYHHKAI[IOHHBIE
-TIepEBOIUTH (co | mpocayIaHHBIX/TPOYUTAHHBIX
TEXHOJIOTHH B
CJIOBapeM)  HWHOCTPAaHHBIEC | TEKCTOB npodeccuoHambHOM
. NESATSIILHOCTH.
TEKCTHI MPOGECCHOHATHHOU OK 6. PaGorats &
HAIPaBIEHHOCTH; KOJUICKTHBE W KOMaHJIEC,
CAMOCTOSTEIBHO 3¢ GeKTUBHO 00IIATHCS €
COBEpIIICHCTBOBATH YCTHYIO KOJLICTaMH, PYKOBOACTBOM,
P yeTHy MOTPEOUTENSAMHU.
¥ TTUCHbMECHHYIO PEUb, OK 7. Bpath Ha ce6s
MOTIOHSTH CIOBAPHBIHA '

P OTBETCTBEHHOCTH 32 paboTy
3armac/;A0JIKeH 3HATh: CICHOB KOMAHIBI
nexcuueckuit  (1200-1400

( (MOTYMHEHHBIX ), pe3yNIbTaT
JEeKCUYEeCKUX €IMHUI) U | 3HAHHE HEOOXOAMMOro oObema ¢
DAMMATHICCK I BBITIOJTHEHUS 3/ TaHUH.
P ., | nexcuueckux u rpammatudeckux | OK 8. CamocrosTensHo
MHUHUMYM,  HEOOXOJMMBII

AJId 9YTCHHUA U TIEPCBOJa (CO

€IMHUIL IJI1 YTCHHS U TIEpEBOJIa

OIPEICTISITh 3a/1a41
poecCHOHATLHOTO U




CIOBapeM)  MHOCTPAHHBIX | (co coBapeM) HHOCTPAHHBIX
TCKCTOB 5 TEKCTOB.
npodeCcCuOHATBLHON

HaIpaBJICHHOCTH.

JUYHOCTHOTO Pa3BUTHS,
3aHUMAaThCS
camo00pazoBaHUEM,
OCO3HAHHO IJIAHUPOBATh
MOBBILICHHUE
KBaJTU(UKAIHH.

OK9. OpuentupoBatbcsi B
YCJIOBUSAX YacTOW CMEHBI
TEXHOJIOTUI B
npodeccrnoHaIbHOM
JeSITeIbHOCTH.

3 Kpurepuu BbICTABJICHHUA OLIEHOK

YCTHBIM OTBET 0O0ydaromerocss OIneHWBaeTcs Ha TudPEepeHIMPOBAHHOM 3aUeTe
IIOCJIE TIOJTOTOBKH OTBETA M KJIACCU(DUIIMPYETCS] B COOTBETCTBUH C TAOJIUIICH:

Kpurepnun BeICTaBIEHNS OLIEHOK

Onenka

OO6yyaromuiics:

- [lepeBOIUT TEKCT B MOJHOM OOBEME.

JlaeT TOYHBIM TEepPEeBO/ TEXHUYECKUX TEPMHUHOB. J(nanor
COOTBETCTBYET KOMMYHHKATHBHOM 3a1a4e.

- He nomyckaeT rpaMmatuyeckux ommOOK B peuu

-Hcnonb3yer B peuu JIEKCUUECKHUE €AUHUIIBI TPOGECCHOHATBHON
HaIlPaBJICHHOCTH B TIOJHOM oObeMe (He meHee 10).

- Bepno pemmn 6onee 85% 3amanuii Tecra.

OTnuyHO (3a4TEHO)

OO6yyaromuiics:

- IlepeBogut Gonee 70% Tekcra. [lepeBoaAUT HEKOTOPHIE
TEXHHYECKUX TCPMHUHOB.

- JlomyckaeT HeCKOJIbKO TPaMMaTUYECKUX OIIHOOK B PEeUH.
Jluanor 4acCTUYHO HE COOTBETCTBYET KOMMYHHKATHBHOM 3aj1aue.
Hcnonb3yeT B peun JIeKCHYeCKHUEe eIMHUIIBI TPOPEeCcCHOHANTBHOIM
HaIPaBJIEHHOCTH (HE MeHee 4).

- BepHo pemnn 6osee 75% 3aganuii Tecra.

Xopo1o (3a4TeHO)

OOyuarommmiics:

- [lepeBoaut Gonee 50% Tekcra.

- JlomyckaeT Halnu4yMe rpaMMaTiYecKux ouMOoK B peun. JJuanor
YaCTUYHO COOTBETCTBYET KOMMYHUKAaTHBHOH 3a1a4e. Vcnonp3yer
HEI0CTaTOYHOE KOJUYECTBO JIEKCUUYECKUX €TUHMIL
poeCCHOHAIBHON HAIPaBJIECHHOCTH (MEHee 4)

-BepHno pemmn 6onee 50% 3amanuii Tecta

Y 10BIIETBOPUTEIIHHO
(3auTeHO)

OO0yyaromwmiics:

~IlepeBoautr menee 50% TekcTa.

- He ucnone3yer nexcruyeckue eMHULIBI TPOPECCHOHATBHON
HaIpaBJIEHHOCTH

- JlomyckaeT MHOTO TpaMMaTHYECKHUX OIMOOK B peun. J[namor He
COCTaBJIEH.

-Bepno pemmt menee 50% 3amanuii Tecta

HeynosnerBopurensHo (He
3a4TEHO)

4 TunoBbIle KOHTPOJIbHBIC 3a/IaHUHA WJIH HHBIC MAaTE€pPHAJbI, HCOﬁXOlII/IMI)le I

OLICHKM 3HAHMUA M YMEHHMH




4.1Bompocs! ajst NpOBEACHUS MPOMEKYTOUHOM aTTecTalui B hopme
nrddepeHIIupoOBaHHOTO 3aUeTa 6

cemMecTp
IlepeyeHb THMOBBIX TEM /IS COCTABJIEHHSI MOHOJOTHYECKOI0 BHICKA3bIBAHUSI

1. Otasix, Typusm
2. UckyccTBO U pa3BiieueHUs
3. I[Ipodeccuu n nmpodeccnoHaIbHBIC KauecTBa, MPOGECCHOHANIBHBIN POCT, Kapbepa
4. HayuyHo-TeXHUYECKHI mporpecc
HepequL THUIIOBbBIX TEM AJIA COCTABJCHHUA JTUAJTOTNIECCKOI'0 BBICKaA3bIBaAHUA
1. HaBbik# 00IIECTBEHHOM XM3HU (TIOBCEHEBHOE MMOBEICHUE, TPO(PECCHOHAIbHBIC HABBIKH U
YMEHUS)
2. HayuyHo-TexHHUYEeCKHI mporpecc
3. l'ocynapcTBO U 1IpaBo, MEXTYHAPOIHBIE OTHOIICHUS
THOBOM TEKCT AJIs1 YTEHHS], lepeBoaa U 00CyKaeHHus (0TBETOB HA BONPOCHI)
[IpounTaiiTe TEKCT, MEPEBEAUTE TEKCT HA PYCCKUH SA3bIK (CO CIIOBapeM), OTBETHTE Ha BOIIPOCHI:

1. When did the Digital Revolution start?

2. What are the advantages of the progress?

3. What are the disadvantages of the progress?
The Digital Revolution is considered to be the Third Industrial Revolution that, according to
scientists, started in the 1940s but was widely accepted only thirty years later in the 1970s.
Nowadays, this Revolution has achieved great results and has affected our lifestyle, habits and
even mentality. It goes without saying that the technological progress has also exerted a
significant impact on interpersonal communication. However, it is not always clear whether the
progress is a positive or a negative thing. On the one hand, there are many advantages of the
progress which allow us to consider it as an opportunity. Firstly, it helps to develop human
relations by means of the internet and electronic devices, such as PC, telephone, and tablet. We
have become closer not only to those people who live nearby but to those who live in other
countries as well. Secondly, the technological progress has an impact on interpersonal
communication from a more global point of view. On the other hand, the Digital Revolution does
not consist only of positive aspects. First of all, in some cases, the interpersonal communication
becomes more primitive and people forget how to communicate with others personally. This
leads to a more serious one that is about fear of in-person meetings. Finally, in the Digital Age,
we rely more on technology and less on each other. As a result, we become more independent of
other people and may feel more confident; however, it is only an illusion as we actually become

helpless.



TunoBble TECTOBbIE 3aJaHUA IO rpaMMaTHKeE U JICKCHUKE ITPOBEPHAIOT:
YMenue MNPUMCHATH HaA MPAKTUKC JICKCHUKO-TPAMMATUYCCKHUC 3HAHUWA, IMOJTYYCHHBIC B XOJC

HU3YUCHUA JUCHUIIIINHBI,

BapuanT 1
BriOepuTe 0uH U3 IPEI0KEHHBIX OTBETOB

1. John....... In London.
a. live b. lives c. are
2. London s .... capital of the UK.
a. a b. an c. the
3. London is situated in the ....... of Great Britain.
a. north b. south-west c. south-east
4, John _ ateacher.
a. am b. are c.is
5. He works .... School.
a. in b. at c.on
6. John...... London University two years ago.
a. finished b. finish c. finishes
7. Whilehe ........ at the university he made friends with Bet Green from the USA.
a. studied b. was studying c. will study
8. The USA is .... than Great Britain.
a. big b. biggest c. bigger
9. The capital of the USA'is .......
a. New York b. Chicago c. Washington
10. Many people ..... to America every day.
a. come b. are come C. comes
11. At the moment John ........ to San Francisco, Bet’s native city.
a. isflying b. will fly c. fly
12. He ...... by Bet to spend a holiday in California.
a. invited b. are invited c. was invited
13. Tomorrow John ...... in the Pacific Ocean!
a. will swim b. swim C. swimming
14. The USA ......... by two oceans: the Atlantic Ocean and the Pacific Ocean.
a. wash b. washed c. is washed
15. The Pacific Oceanis ........ than the Atlantic Ocean.
a. large b. larger c. largest
16. The Pacific Ocean is the ..... ocean in the world.
a. large b. larger c. largest
17. Inthe USA ........ many rivers.
a. thereare b. there is c there was
18. Rivers ....... into the oceans.
a. flow b. flows c. is flown
19. John wants to travel ..... ship.
a. on b. at c. by
20. In Hollywood he wants to see the ......... American actors .
a. more famous b. most famous c. famousest

21. John thinks that American films are the ........ .
a. better b. goodest C. best



22. John hopes that he ......... happy in the USA.
a. is b. was c. will be

Bapuant 2
BriGepute ouH U3 nNpeioxKEeHHbIX OTBETOB

1. Bet....... in Washington.

a. lives b. live c.are

2. Washington is .... capital of the USA.

a. the b. an c.a

3. Washington ............. in the east of the USA..

a. situate b. situated c. is situated

4., Bet____ adoctor.

a. am b.is c.are

5. He works .... hospital.

a. in b. at c.on

6. Bet...... University two years ago.

a. finished b. finish c. finishes
7. Whilehe ........ at the university he made friends with John Bright from the UK.
a. studied b. was studying C. study

8. The UK is ....than the USA.

a. small b. smaller c. smallest

9. The country ....... 4 parts.

a. have b. is haved c. has

10. England is the ........... part of the country.

a. big b. biggest c bigger

11. Many tourists ..... to Great Britain every day.

a. come b. are come C. comes

12. At the moment Bet ........ to Edinburg, John’s native city.

a. isflying b. will fly c. fly

13. He ...... by John to spend a holiday in Scotland.

a. invited b. are invited c. was invited

14. Tomorrow Bet ...... in the North Sea!

a. will swim b. swim C. swimming

15. Great Britain ......... by two seas: the Irish Sea and the North Sea.
a. wash b. washed c. is washed

16. The North Sea is ........ than the Irish Sea.

a. larger b. large c. largest

17. In Great Britain ........ many rivers.

a. thereare b. there is c there was

18. Rivers ....... into the seas.

a. flow b. flows c. is flown
19. Bet wants to travel ..... ship.

a. on b. at c. by

20. Bet wants to visit the Museum of Robert Burns, the ....... Scottish poet. .
a. more famous b. most famous c. famousest

21. A lot of poems ...... by Robert Burns.

a. write b. wrote C. were written
22. John hopes thathe ......... happy in Scotland.



a. is b. was c. will be

8 cemecTp IlepeyeHb THIOBBIX
TEM IJIF COCTABJCHUA MOHOJJIOI'HYECKOI'0 BBICKAa3bIBAHUSA
1. CoBpemeHHasl cUrHaJIM3alKs Ha KEJIe3HOM 10pore
2. Ucropust curHaiu3anuu
Hepeqeﬂb THUIIOBbBIX TEM J1JI1 COCTABJICHUA JUAJTOTINYECCKOI'0O BbICKa3bIBaAHUA
1. ABTOMaTr4ecKuii KOHTPOJIb
TekeT 11 nepeBoaa u 00Cy:k1eHUs (0TBETOB HA BONPOCHI)

a. How many continents do railways cover?

b. What do railways carry?

c. What is the technical possibility of modern transport?

d. Where are modern computerized systems used?
RAILWAYS TODAY AND TOMORROW
The railways of today extend over 1,100000 kilometers covering all five continents:
Europe, America, Asia, Africa and Australia. The goods traffic of the railways of all countries
total 7,4 billion t/km. the railways carry billions of passengers a year. This is good proof to the
importance of railways for the life of the world’s community.
The technical possibility of this mode of transport is enormous indeed. Electric and diesel
electric traction play a leading role in handling traffic. Specialized wagons and containers are
used on an ever increasing scale. Heavy rails are widely used. Modern computerized systems
have become an integral part of stations, shops and traffic control centres.
The modern community can hardly be imagined without railways although their role is
different in various countries. In some of them railways are the main mode of transport while in
others railway play a comparatively small role in the overall forwarding process. However there
IS a specific area of activity of the railways. The most typical is the handling of immense
volumes of commuter traffic as well as long distances traffic while forwarding passengers
overdistances of 1000 or 1500 km, carrying bulk goods such as coal, ore, timber, cement, grain,
motor cars etc, and forwarding industrial products and food using containers to move them from
door-to-door.
Tunosble TeCTOBBIE 3a/IaHUs 110 TPAMMATHKE U JIEKCHUKE ITPOBEPAIOT:
YmMmenne INPUMCHATh Ha TMPAKTUKC JICKCHUKO-TPAMMATUUYCCKHUEC 3HAHUWA, IMOJTYYCHHBIC B XOJIC

HU3YUCHUSA JUCHUIIIINHBI,

Bapmnanr 1
Bribepure o1H U3 MPEI0KEHHBIX OTBETOB



Transport in India

1. John Palmer___ arailway worker in India.

a. am b.is c.are
2. Two years ago he the Railway Academy.

a. finish b. finishes c. finished
3. Heand his partners _____in the Konkani Railway Corporation.

a. work b. works c. is worked
4. The company Konkani Railway __ in 1990.

a. formed b. is formed c. was formed
5. The company provides for a large number of people.

a. employment b. employ c. employed
6. The Konkani Railway has the railway tunnel in India.

a. long b. longer c. longest
7. The tunnel is with sensors to monitor air contamination.

a. equipped b. equipping c. equipment
8. The ventilation system is activated via the data from the sensors.

a. automation b. automatical c. automatically
9. The position of the train within the tunnel __ on a panel in the traffic control room at

the tunnel entrance.

a. is indicated b. are indicated c. indicated
10. John is a computer

a. engine b. engineer C. engineering
11. John thinks that his job is very .

a. import b. important c. importance
12. He usually starts his working day 9 o’clock.

a.on b.in c.at
13. He usually goes towork _ car.

a. by b.in c.on
14. John enjoys acar.

a. drive b. driving c. to drive
15. Now John with railway specialists from Russia.

a. meets b. met c. Is meeting
16. It’s good that John  speak Russian.

a. can b. may C. must
17. _ Russian language is getting popular in India.

a. The b. A c. An
18. He hopes that their meeting successful.

a. be b. will be C. was
19. John work very hard to achieve success.

a. can b. may C. must

Bapwuanr 2.

Bri6epute npaBuibHBINA OTBET
Transportinindia

1. John Cramer as a railway worker in India.

a. work b. works c. worked
2. Two years ago he a student at the Railway Academy.



4.2

a. was b. is c. will be

3.Now he __inthe Konkani Railway Corporation.

a. work b. works c. is worked
4.The company Konkani Railway __ in 1990.

a. found b. is founded c. was founded 5. The
company has a large number of

a. employees b. employment c. employers
6. The Konkani Railway has the railway tunnel in India.

a. longest b. longer c. long
7. The ___ of the tunnel was brought from the UK.

a. equipped b. equipping C. equipment 8. The
ventilation system is activated via the data from the sensors.

a. automation b. automatical c. automatically
9.The position of the train within the tunnel __ on a panel in the traffic control room at the
tunnel entrance.

a. indicated b. are indicated c. is indicated

10.John’s job with computers .

a. Is connected b. were connected  c. are connected
11.John’s job is very .

a. tire b. tiring c. tired
12. His working day begins 10 o’clock.

a.on b.in c.at
13. He usually goes to work ____ bike.

a. by b.in c.on
14. John enjoys :

a. ride b. riding c. toride
15. Now John and his partners with railway specialists from Russia.

a. meets b. is meeting c. are meeting
16. John __ speak Russian very well.

a. can b. can’t C. must
17. He ___ learn Russian very hard.

a. must b. mustn’t C. may
18. _ Russian language is very difficult.

a. A b. An c. The

19. John is sure that their meeting them success.
a. bring b. will bring c. brought

HNHble MmaTepHaibl
1. TlpouuTaiite Tekct. Onpenenure NpaBAUBOCTb (PAKTOB

TRANSPORT IN THE USA

=

Water transport in the USA developed later than road transport.
In 19" century the US government supported Railway companies.

no

3. Both motor transport and railways were popular in the 20" century in the USA.



4. Air transport became the leader of travel between the two world wars.

5. Inthe 1990s railways carried more freight than motor transport.

6. Passengers prefer travelling by train to traveling by car.

7. There are more roads in the east than in the west.

8. There are more roads in the South than in the North.

9. The task of the National Interstate Highway System is to link states and cities.
10. In the 1990s there were less cars than lorries in the USA.

The development of transport facilities was very important in the growth of the United
States. The first travel routs were natural waterways. No surfaced roads existed until the
1790s, when the first highways were built. Besides the overland roads, many canals were
constructed between the late 18™ century and 1850 to link navigable rivers and lakes | the
eastern United States and in the Great Lakes region.

Steam railway began to appear in the East in the 1820s. The first transcontinental railway
was constructed between 1862 and 1869 by the Union Pacific and Central Pacific companies,
both of which received large subsidies from the federal government. Transcontinental
railways were the chief means of transport used by European settlers who populated the West
in the latter part of the 19™ century. The railways continued to expand until 1917, when their
length reached a peak of about 407 000 km. Since then motor transport became a serious
competitor to the railway both for passengers and freight.

Air transport began to compete with other modes of transport after World War I. Passenger
service began to gain importance in 1920s, but not until the beginning of commercial jet craft
after World War 11 did air transport become a leading mode of travel.

During the early 1990s railways annually handled about 37.5 per cent of the total freight
traffic; trucks carried 26 per cent of the freight, and oil pipelines conveyed 20 per cent.
Private cars carry about 81 per cent of passengers. Airlines are the second leading mover of
people, carrying more than 17 per cent of passengers. Buses are responsible for 1.1 per cent,
and railways carry 0.6 per cent of passengers.

The transport network spreads into all sections of the country, but the web of railways and
highways is much more dense in the eastern half of the United States.

In the early 1990s the United States had about 6.24 million km of streets, roads and
highways. The National Interstate Highway System, 68 449 km in length in the early 1990s,
connected the nation’s principle cities and carried about one-fifth of all the road and street
traffic.

More than 188 million motor vehicles were registered in the early 1990s. More than three
quarters were cars — one for every two persons in the country. About one fifths of the
vehicles were lorries. Amtrak (the National Railroad Passenger Corporation), a federally
subsidized concern, operates almost all the inter-city passenger trains in the US. It carried
more than 221 million passengers annually in the early 1990s.

2. Hcnonp3yiiTe B TEKCTE CIIOBA, MOAXOIAIIME [0 CMBICIY U TPAMMAaTHKE

Railway Transport

Railways are very important, because they carry 1 and 2 far and fast . The train
consists of oneortwo 3~ andmany __ 4 . Trains move alongthe 5  that
consists of 6 , 7 and 8 . Trainsstopatthe 9 where

10 can get on or get off the train. 11  make the trip comfortable: they check
tickets, sell drinks and food, clean the car. Modern 12 are very fast and modern _ 13
are very nice.They are made of different 14

3. 3apaiiTe BONpOCHI O *KeJe3H0i Jopore B ABcTpaiuu. Haiiinte oTBETH B TEKCTE



A line between Melbourne and Port Melbourne was built in .... . When?
It took ...... to build railways in Australia. How many years?

There are ..... rail gauges in Australia. How many gauges?

Most of the railways are controlled by ..... . Who?

Private lines carry ..... . What?

Freight lines carry goods to ... . Where?

ok wnE

Railways in Australia

In Australia railways were constructed in all colonies between 1854, when a line was built
between Melbourne and Port Melbourne, and 1871. Trivial disagreements among the self-
protecting colonies blocked the creation of any master plan and saddled Australia with three
different rail gauges: the standard gauge of 4 feet 81/2 inches (144 cm) in New South Wales, the
broad gauge of 5 feet3 inches (160 cm) in Victoria and South Australia, and the narrow gauge of
3 feet6 inches (107 cm) in Queensland, Tasmania, Western | and the northern extremities of
South Australia. It took until 1970 to standardize one continuous line between Perth and
Brisbane, along which the India-Pacific train now travels. It crosses the Nullarbor Plain on the
longest straight stretch of rail track in the world — 300 miles (480 km). State governments control
most of the railways, including the profitable electrified commuter lines in the cities. The
Commonwealth government controls the railways of Tasmania, the Northern Territory, and parts
of the transcontinental line. Private freight lines convey iron ore, sugar, coal and other goods to
the nearest ports.



